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'WRITTEN RESPONSE

11. Do you agree or disagree with the following conjectures? Justify your decisions
with a counterexample if possible.

a) 'The sum of a multiple of 5 and a multiple of 15 will be an odd number.

b) The sum of a multiple of 5 and a multiple of 15 will be an even number.

12. In this equation, x is an integer. What does the equation prove? Support your

answer with a specific example.

x+E+D+E+2)+x+3)+E+4H)+(x+5+x+6)=7x+21





image7.png
5 Mail - Petina Cook - Outloo

< - O a

@ Midterm Reviewpdf X+

13. Do you agree or disagree with the following conjecture? Justify your decision
with a counterexample if possible.

“Forensic scientists will always discover cnough evidence to convict the guilty

person, because that is what happens on television.”

14. Form a conclusion based on the following statements. Explain whether your

reasoning was inductive or deductive.

“All marsupials have pouches.” “Kangaroos are marsupials.”

15. Continue the sequence 5, 14, 23, 32, 41, ... by two terms. Explain whether

your reasoning was inductive or deductive.
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MULTIPLE CHOICE
1. In the figure shown, which angles are supplementary interior angles? T
A Lh, Lj B. Lg /in C. Lh Li D. /h /m
2. Which angles are alternate interior angles? o il
A Lh Lj B. g /n C. Lh Li D. Lh Lm .
u w

3. Which angles are supplementary exterior angles?

A Lh L B. Lg /j C. Lh Li D. Lh Lm

4. In the figure shown, what is the measure of Z#?

A. 25° B. 35° C. 120° D. 145°
b
5. What is the measure of £ ¢ 3
A, 25° B. 35° C. 120° D. 145°

£ _In the Aaure shown _what is the measure of / CDF A





image9.png
5 Mail - Petina Cook - Outloo  {®) Midterm Review.pdf X 4

& 5> O Q| fewmcsses

10.

1.

. In the figure shown, what is the measure of 2~ CDE?

A. 75° B. 60° C. 120° D. 45°

. What is the measure of Z ECD?

A. 75° B. 60° C. 120° D. 45°

. What is the measure of Z DEC?

A. 75° B. 60° C. 120° D. 45°

. What is the sum of the measures of the interior angles of a polygon with

17 sides?

A. 3060° B. 2880° C. 2700° D. 159°
What is the measure of each interior angle of a regular 18-sided polygon?
A. 180° B. 175° C. 160° D. 150°

What is the measure of each exterior angle of a regular 17-sided polygon, to
the nearest tenth?

A.25.1° B. 21.2° C. 10.6° D. 8.1°

D 105"
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NUMERICAL RESPONSE g5+
12. Determine the measures of angles 4, 4, ¢, and d.

La=__° lb=__° Le=__° Ld=__°

13. Determine the measures of the unknown angles in figure WXOYZ.
ca=_ b=+ gem_ e

td=__°  Le=_° 4f= v
-4

14. a) Determine the sum of the interior angles of a regular 18-sided polygon.

b) Determine the measure of an interior angle of a regular 18-sided polygon,

to the nearest tenth.

©) Determine the measure of an exterior angle of a regular 18-sided polygon,

to the nearest tenth. °
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to the nearest tenth.

‘WRITTEN RESPONSE

15. Determine the measures of angles p, g, 7, 5, and 1. Give reasons.
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16. Prove that PQ || RS.

17. ‘The sum of the measures of the interior angles of an unknown polygon is

3780°. Determine the number of sides that the polygon has. Show your work.
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. Prove that AACD is isosceles.
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Determine the measure of the indicated angle, to the nearest degree.

: 16.0 m 2.
539.cm 39.5cm

444cm

C. 44° A. 54° C. 80°
D. 79° B. 46° D. 41°

Determine the indicated side length, to the ncarest tenth of a unit.

4. 5.
243m 343m
60 km
X

A. 3.8km C. 4.6 km A. 27.2m C. 222m
B. 4.2 km D. 5.0 km B. 33.8 m D. 38.3 m
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9. A cano leaves a dock on Lake Claire and heads in a direction N71°E for
1.9 km. At the same tim, a second canoe travels in a direction S28°E from

the dock for 3.1 km.

‘The distance berween the canoesis____km, to the nearest tenth of a
kilometre.

. In a parallelogram, two adjacent sides measure 4.2 cm and 5.9 cm. The
shorter diagonal is 2.6 cm.

‘The larger angles in the parallclogram measure __°, to the nearest degree.

. An atmospheric scientist is trying to determine the altitude (height above
Earth's surface) of a circular cloud directly above him. The scientist measures
the angle of elevation to the north end of the cloud to be 89° and the angle of

elevation to the south end of the cloud to be 85°. The scientist knows that this snee2

cloud has a diameter of about 150 m.

‘The altitude of the cloud, to the nearest metre,is ___m.

. A bush pilot delivers supplics to an isolated village by flying 470 ki in the

direction NG6°E. While at the village, the pilot decides that she must refucl at
a camp located 35 km S11°E of the village.
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A. 15.6 cm C. 12.2cm A. 1022 m C. 904 m
B. 7.8 cm D. 10.5 cm B. 85.5m D. 73.7m

NUMERICAL RESPONSE

8. Determine the indicated side length, to the nearcst tenth of a unit, or angle

measure, to the nearest degree.

a) In AABC, b=14.0m, ¢ = 9.3 m, and ZA = 66°.

‘Therefore, a = m.
b) In AVWX, v = 60 cm, x = 85 cm, and £ W = 20°.
Thercfore, w= ___cm.
©) In ADEF,d = 42.2 cm, ¢ = 47.8 cm, and f= 50.1 cm.
Thereore, 2D = __°.

Copyright © 2012 by Nelson Education Ltd. Chapler 3 Test
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9. A canoe leaves a dock on Lake Claire and heads in a direction N71°E for
1.9 km. At the same time, a second canoe travels in a direction $28°E from
the dock for 3.1 km.

The distance between the canoes is km, to the nearest tenth of a
kilometre.

. In a parallelogram, two adjacent sides measure 4.2 cm and 5.9 cm. The
shorter diagonal is 2.6 cm.

‘The larger angles in the parallclogram measure _°, to the nearest degree.

. An atmospheric scientist is trying to determine the altitude (height above
Earthis surface) of a circular cloud directly above him. The scientist measures

the angle of elevation to the north end of the cloud to be 89° and the angle of R
elevation to the south end of the cloud o be 85°. The scientist knows that this canoe

cloud has a diameter of about 150 m.

“The altitude of the cloud, to the nearest metre, is m.

12. A bush pilot delivers supplies to an isolated village by flying 470 km in the
direction N66°E. While at the village, the pilot decides that she must refucl ac

a camp located 35 km S11°E of the village.
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ometre.

. In a parallelogram, two adjacent sides measure 4.2 cm and 5.9 cm. The
shorter diagonal is 2.6 cm.

‘The larger angles in the parallclogram measure _°, to the nearest degree.

. An atmospheric scientist is trying to determine the altitude (height above
Eardhs surfacc) of a circular cloud directly above him. The scientist measurcs
the angle of clevation to the north end of the cloud o be 89° and the angle of

clevation o the south end of the cloud to be 85°. The scientist knows that this gance?

cloud has a diameter of about 150 m.
“The altitude of the cloud, to the nearest metre, is m.

. A bush pilot delivers supplics to an isolated village by flying 470 km in the
direction N66°E. While at the village, the pilot decides that she must refucl ac
a camp located 35 km S11°E of the village.

By the time she returns to her starting point, the pilot will have flown a total

distance of km, to the nearest kilometre.

WRITTEN RESPONSE

13. Two airplanes leave Hay River airport at the same time. One flies at A
550 km/h. The other flies at 330 km/h. About 2 h later, they are 1200 km a2\
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a camp located 35 km S11°E of the village.
By the time she returns to her starting point, the pilot will have flown a total

distance of km, to the nearest kilometre.

WRITTEN RESPONSE

13. Two airplanes leave Hay River airport at the same time. One flies at
550 k/h. The other flies at 330 km/h. About 2 h later, they are 1200 km
apart. Determine the angle between their paths, to the nearest degree.

100 km

1200 km
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14. An airplane is spotted by two observers on opposite sides of it. On the
ground, the observers are 1500 m apart. One obscrvers line of sight to the
airplane makes an 83° angle with the ground. The other’ line of sight makes a

69° angle with the ground. Determine the distance from each observer to the
airplane, to the nearest metre.
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15. Joanna is using a surveying instrument to determine the height of a mast. She
selects two surveying positions, P and Q, to create a baseline PQ that is 48 m
long. The basc of the mast is at & and its tip is at S. Joanna determines the
clevation of the mast from position P: 2 RPS = 73°. She also determines these
ground-level angles: 2 RPQ = 47° and £ RQP = 65°.

a) How tall is the mast, to the nearest metre?

b) If Joanna had measured the elevation of the mast from position Q instead

of position 7, what would her measurement have been, to the nearcst
degree?
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MULTIPLE CHOICE
1. Which of the following equations s true?
A. sin 60° = sin 120° C. sin 45° = —sin 135°
B. sin 80° = —sin 80° D. all of these

. Calculate tan 78° o four decimal places. Predict another expression that
equals tan 78°.

A. —4.7046; tan 102° C. 4.7046; —tan 78°
B. 4.7046; —tan 102° D. none of these

. Which law or combination of laws would you use to determine the measure

of x in this triangle?

A. the cosine law, once

B. the sine law, twice

C. both the sine law and the cosine law

D. neither the sine law nor the cosine law

4. Determine the length of x, to the nearest metre.

A. 118 m C. 11m
B. 15m D.8m

5. Which set of measurements could result in two possible triangles?
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" Detcrmine the length of %, to the nearest metre.
A. 118 m C. 1lm
B. 15m D.8m
. Which set of measurements could result in two possible triangles?
A LA=25%a=25mb=62m C. LA=96a=52mb=50m
B. /A=135°a=38m b=40m D.LA=48%a=74mb=7.1m
. In ARST, LR=29°s=54m,and =58 m.
Which statement is truc for this sct of measurements?

A. This is an S/ situation; no triangle is possible.

B. This is an SS4 situation; only one triangle is possible.

C. 'This is an SS4 situation; two triangles are possible.

D. ‘This is not an S54 situation; only one triangle is possible.

104 Chapter 4 Test Copyright © 2012 by Nelson Education Ltd.
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7. Which would you use to determine the length of
A. the primary trigonometric ratios
B. the sine law
C. the cosine law
D. None of the above; x cannot be determined.

8. Determine the measure of %, to the nearest degree.
A 10° cr

B. 19° D. None of these;
x cannot be determined.

NUMERICAL RESPONSE

9. Determine the length of x, to the nearest tenth of a centimetre.

a) 12cm
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NUMERICAL RESPONSE

9. Determine the length of %, to the nearest tenth of a centimetre,

@) 2em

10. Determine the measure of , to the nearest degree.

12:28PM

& NG 020 BY
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1. Determine the lengeh of x to the nearest tenth of a centimetre and the
measure of 0 to the nearest degree.

14cm

WRITTEN RESPONSE
12. In AABC, LA = 47°,a = 3.5 cm, and b = 5.0 em. Determine the number

of triangles (zer0, one, or two) that are possible. Draw a diagram to support

your answer.

- o 12
i NG 020 BY
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13. A mass is suspended on a length of cord. The ends of the cord are attached to
the ceiling 1.4 m apare. The angles formed by the ceiling and the cord are 26°
and 32°. Determine the length of the cord, to the nearest tenth of a merre.

Copyright © 2012 by Nelson Education Ltd.
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4. In APQR, £P= 41° p = 35 mm, and 7 = 47 mm.

@) Predice, with reasons, how many triangles are possible for this situation.

b) Determine the area of each possible triangle, to the nearest square millimetre.

5. "Two beams support part of a platform.

* At their upper ends, the beams meet the placform at the same point.

o W
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. Two beams support part of a platform.
* At their upper ends, the beams meet the placform at the same point.
* ‘The beams are inended to rest on the ground at different points, but on
the same horizontal level
* ‘The beams will both be in the same vertical plane.
* The main beam is 12.5 m long and is at an angle of 38° to the horizontal.
* ‘The support beam is 7.2 m long,

) Using a sketch, describe the problem with this design as it stands.

b) The design s revised by increasing the support beam’s length 10 8.4 m
long. Whatis the problem with the revised design? How could it be fixed
without changing either of the beam lengths again?

Copyright © 2012 by Nelson Education Lt Chaplor 4 Test 107
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MULTIPLE CHOICE
1. Which conjecture about the product of three odd integers seems most reasonable?
A. Tt will be an even integer. C. It will be negative.
B. It will be an odd integer. D. It is not possible to make a conjecture.

2. Which conjecture about the interior angles in a hexagon seems most reasonable?

A. Their sum is always 180°. C. Their sum is always 720°.
B. Their sum is always 360°. D. It is not possible to make a
conjecture.

3. Rainfeather noticed the following:

432 432 432 432

432 432
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D. It is not possible to make a conjecture. P
4. Which figure is a counterexample to the conjecture “All polygons with eight
equal sides are regular octagons™?
A. Figure I only C. Figure I and Figure II
B. Figure Il only D. neither Figure I nor Figure 11 Figwrel
5. Which choice provides a counterexample to the conjecture “When you divide
one whole number by another whole number, the quotient will be greater than
the divisor and less than the dividend”?
14 6 14 6
A.7:7butn0t§=0.75 C.7=7and§:0.75
BGI 0.75b 14 4 D. neith Lk 7 < 0.75
. —=0. t— = s —= —=0.
8. ut not — neither — Aot Fme

Copyright © 2012 by Nelson Education Ltd. Chapter 1 Test 35
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6. All kangaroos are marsupials. All marsupials are mammals.
All mammals are warm-blooded. Ginger Jack is a kangaroo.
What can be deduced about Ginger Jack?

A. Ginger Jack is warm-blooded but is not a mammal.
B. Ginger Jack is a mammal but is not warm-blooded.
C. Ginger Jack is warm-blooded and a mammal.

D. Ginger Jack is neither warm-blooded nor a mammal.

7. What type of error, if any, occurs in the following deduction?

Bill works, so he works from 9 a.m. to 5 p.m.”
A. a false assumption or generalization

B. an error in reasoning

C. an error in calculation

D. There is no error in the deduction.

8. What type of error, if any, occurs in the following proof?

“All people who work do so from 9 a.m. to 5 p.m., with one hour for lunch.
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C. an error in calculation

D. There is no error in the deduction.

8. What type of error, if any, occurs in the following proof?

Suppose that: . atb=c
‘Then: (4a — 3a) + (46 — 3b) = (4c — 30)
Reorganize: da+ 4b— 4e=3a+3b— 3¢
Using distribution: 4latb—0=3a+b—0
4=3
A. an error in calculation C. a false assumption or generalization
B. an error in reasoning D. There is no crror in the deduction.

NUMERICAL RESPONSE
9. Determine the unknown term in each pattern.

a) 3,12,48, 192, » 3072, 12 288

b) 12500, 2500, , 100, 20, 4
©) 14, 28,56, 112, _, 448, 896 1
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Using distribution: dlatb—cd=3a+b—0o
4=3
A. an error in calculation C. a false assumption or generalization
B. an error in reasoning D. There is no error in the deduction.

NUMERICAL RESPONSE

9. Determine the unknown term in each pattern.

a) 3,12,48,192, 307212288

b) 12500, 2500, 100,20, 4

o) 14,28,56,112, 448,896 1
10. What number should go in cach square of this Sudoku puzzle?

a) square A __ o) squareC___

b) squarc B d) square D

36 Chapter 1 Test





